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1. In the diagram below, #£ bisects AC at B, and G bisects BD at C.

Which statement,is always true?
)) AB= DC
FB=EB X
3) E bisects GZ at G
4)
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AC bisects FE at B. )<

2. Segment CD is the perpendicular bisector of 4B at E. Which pair of segments does not have
to be congruent?

1) 4D BD
2) AC, BC
AR BE
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3. Given: AABE and ACBD shown in the diagram below with DB = BE
Which statement is needed to prove AABE = ACBD using only SAS = SAS?
1) ZCDB= LAEB
2) LAFD = LEFC
@) 4D=CE
4) 4B =CD
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4. In the diagram below, m, NEC, AJ——\I, and SC are drawn such that AN = SC.

Which additional statement is sufficient to prove AXKAN = AXSC by AAS? \L
Ao A7 i G\l 0

1) AS.’ and N(L?’ blS.CCt each other,, 'U'\" i \ QYU\J

2) Kis the midpoint of NC)( ,

3) ASLcw ; /

- (P W} an UYE“)(&

Which information is always sufficient to prove AABE = ACDE?
1) 43| cp 3) Eis the midpoint of 4C.
2) AB=CDand BE = DE @ BD and AC bisect each other.

6. She was given that £4 = #ZD#, and has already proven AB = DE. Which pair of
corresponding parts and yagle congruency method would not prove A4BC = ADEF?

)—4E€-= DF and SAS 3) £C= 7 and AAS v
@ BC = EF and SAS X 4) ZCBA=/FEDand ASA) S




7. Triangles JOE and SAM are drawn such that /& = /if and EJ = MS. Which mapping would
not always lead to / _\,JOE ASANV?
1) 7 maps onto 25 v~ ASh 3) O maps onto ba v SAS

2) £0Omaps onto LAV A—A,S O maps onto S4 ASj
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8. In the two distinct acute triangles ABC and DEF, £B = £&. Triangles ABC and DEF are
congruent when there is a sequence of rigid mot1ons that maps
1) Z4onto 2D, and £C onto LFX LC onto ~#, and BC onto EF 1/ 'A:SA‘

2) AC onto DF, and BC onto EM Aé) 4) point 4 onto point D, and 4B onto .DE)( Uq) /)_‘J’
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9. In AABC, BD is the perpendicular bisector of 40C. Based upon this information, which
statements below can be proven? {t _

I. BDisamedian % (ﬁ ceh ma@ _) Q/Q %NQA‘{"‘
I1. BD biscets LABC.v/= S -

III. AABC isisosceles. / Ag"[%b

D I and/nﬁly - A

2) and 111, only™
}I and/HI only

? /@/I 11, and III

10 Line segment EA is the perpendicular bisector of ZT, and ZZ and 7& are drawn. J’[ /)ﬂb > /‘Q

e

Wthh conclusion can not be proven?

1 Emgle-zg%gaf:gﬁ; A | Y j ()ZQ /}},
(

2) Tnangle~EZT is equilateral. d

74 is a median of’cnan;e\EZT‘v{ ?I/:\;KF

4) Angle Z is congruent to angle yAS )<







